
010.0200
Housing - (mm) 1

Ohne 2.Knicksystem # 100047603

1 EEA3696 1 Connection box 4xM 25x1.5+8xM 32x1.5 330x230x180 mm
ED2131 1 Sealing profile

2 EEA3686 1 Connection box 7xM 20x1.5+9xM 32x1.5 330x230x110 mm
ES3569 4 Screw M 6x35 ISO4762
ES3567 4 Screw M 6x25 ISO4762
ES3568 4 Screw M 6x30 ISO4762

3 EEA3687 1 Connection box 260x160x100
ES3569 4 Screw M 6x35 ISO4762
ES3567 4 Screw M 6x25 ISO4762
ES3568 4 Screw M 6x30 ISO4762

4 EEA2887 4 Spacer l=10 mm
(NK)

5 EEA3547 1 Connection box 4xM 25x1.5+8xM 32x1.5 330x230x180 mm

6 EEA3693 1 Connection box 1xM 25x1.5+4xM 32x1.5 220x120x91 mm
7 EEA3691 1 Base (PVC) 175x80x43.5

(PVC)
8 EEA2892 1 Cover 175x80x15

(PVC)
9 EEA3689 1 Base 175x80x43.5
10 EEA2706 1 Cover

11 EEA4143 1 Cover
12 EEA4700 1 Cover
13 EEA4701 1 Cover
14 EEA4702 1 Cover
15 EEA3692 1 Base 238x119x68.8

16 EEA2702 1 Cover
17 EEA3690 1 Base
18 EEA2704 1 Cover
19 EEA3685 1 Connection box 125x80x57 mm
19 EEA5473 1 Connection box 4xM 25x1.5+2xM 32x1.5 140x140x92 mm
20 EEA 163 1 Cover 175x80x15

No. Spare part Qty. Description Dimension

www.palfinger.com 03/2018



010.0200
Housing - (mm) 1

Ohne 2.Knicksystem # 100047603

1

2

3

4

5

6

7

8
9

10

11

12

13

14

15

16

17

18

19

20

www.palfinger.com03/2018


